SuMPO EPD
F14TNERIEEE (EPD)

Fix&ES © JR-BO-24004E

& NIPPON STEEL

SuMPO

..E PD

AAAAA

VERIFIED

BEAF /LA EH

NIPPON STEEL Stainless Steel Corporation

BEEL
1t
BEX KRR
O E#&A4 m SRS

FOERPE (FAVRIERE. RAR0OEX. RRORE)

HMOB, TELHK-FET
ST b IWOREPR. ESRERR. J\IERLERT
ERHUE 1 IS (BAREZERUS)
X mE (T E
RAAR @ 855, SEAR. #5744, 5
FORE (BfImm. t =#RE) t=0.1~150
FRAER (BfImm. ¢=BR) ¢ =5.5~60

E[AY=relce
B#XX7> LAt $ish EEi=E
TEL : 03(6841)6170

https://stainless.nipponsteel.com/

SUMPOBRIESAITOI S A
—MRAIEEFEAT AT T IR EHEEAE
RRHTREXAMHET-14-8

KANDA SQUARE GATE
https://ecoleaf-label.jp

AT RS G (SUS304)
Stainless Steel (SUS304)

EaC————

—

—

=

-
\ ;

ERES JR-BO-24004E

IEFAPCRES  PA-187000-BO-03

PCR# ATVVAE G (PREE) [E3kk]
YNE]=! 20245118 25H

RALEEE 20245108118

REEA B FBIREES 2

RIEES JV-BO-24004

IRAEEZEAR 20294104108

PCRLEI-DENE
WEHZ 2023F2H4H
ZER LE #
—MAEFR AT AT T IR E HEE S
B=EIREE"
NEBIRIEE B ER
1ISO140258 &K TNS021930IHE>TeAE E R UT -5 DML
REE
O

*YAT LR ER IR EGRDRIIDIB S, YATLRAET>LEEED
ZEEHE.

E85&ES 1 JR-BO-24004E



SuMPO

EPD

1APAN

VERIFIED

SuMPO EPD
F4TNIBIESTE (EPD)
Z85E S . JR-BO-24004E

SUMPORIESAINTOI5 s
— AL EIEA Y AT TR EHEE A
RRBTREXA#HET-14-8

KANDA SQUARE GATE
https://ecoleaf-label.jp

OF1TY1 VIV R &R
0% 20% 40% 60% 80% 100%
SUEZE) IPCC 2013 GWP 100a 3600 | kg-CO.eq
[7ye(e 3.9 | kg-SO2eq
HALFAFISI Vb 0.10 | kg-CzHaeq
wA) FHHEE w02 BHEOBE o« (] HRORE
MER 15H Bifsf A5t |[a) mEREE| (a2 Ersomz | [A3] #E 08
SURZH) IPCC 2013 GWP 100a| kg-CO.eq | 3.6E+03 2.4E+03 3.4E+01 1.1E+03
AV EHIE kg-CFC-11eq| 1.4E-04 1.3E-04 2.6E-10 6.1E-06
7y (e kg-SOzeq | 3.9E+00 2.9E+00 3.0E-01 7.1E-01
HALFZAFIHI Vb kg-CoHseq | 1.0E-01 5.9E-02 5.0E-03 3.6E-02
EREL kg-PO.*eq| 1.3E+00 8.4E-03 2.2E-13 1.3E+00
@ EapEig: © v 5 CBIT 3R
15H Hify mE-9E (ERERS) Hif
EBERBEER 4.5E+02 kg &% [C] =0.08 %
FEBERREIRILY - 4.8E+04 MJ T1% [Si] =10 %
HERBREIR 8.2E+02 kg NYHY [Mn] =20 %
BEAREIRILF- 1.7E+03 M) U [P] =0.045 %
RKDHE 4.8E+00 m3 Wi [S] =0.03 %
ZyJ )b [Ni] =10.5 %
@EEEYRE TR 0L [Cr] =20 %
IEHH Hify £ [Fe] z66 %
BEREY 0.0E+00 kg
mERZEY 3.7E+00 kg

KIMTHAIWICBI 2R BERLTNET,



SUMPOIRIZEIANIL 0TI s
LS SR EAD _ — A A Y AT TR R
f .oE PD s 7mmsss (erD) ERBFRBXABE-14-8

VERIFIED KANDA SQUARE GATE
BZ#ES ¢ JR-BO-24004E https://ecoleaf-label jp

OHETERRICETZEMNMIER

NERIOENX Y FTUAIPCRICHE STz, TIHMENE(E xRt E XY I CEHAL TRV,

ARY-b Lk OMBRUMEICET BB ONT, HKUSMIH RELZHMRIZREDE LIRMEDIE, ZADEDETRT #%
DR DR RS D LR THE NS,

3)—RT-FF, 2022 FENEEEEFERA L, BHRBEAMRIES, —MBIFHEE101LF, 2014FE | Z2ERLE,
HETERRIL, FR, R EROMEFIHETHS,

St A HCARR) M [CLBHMITEATUVAL,

®©-1.Z0ftiDIRIFRIEIF IR
ISO1400158E TH TRIEL TN,

©-2.F5EME 515 %
I5H CAS No. EDE
YUY 7439-96-5 FEREBERETS
704 7440-47-3 FERSHEEEITS
vl 7440-02-0 FEREBERETS

OERLEZRT-9DER A
IDEAv2.1.3 Z{FEMALT,

®fFEZE
OJISTRHE 1 JIS G 4303 (RATYLAMEE) . JIS G 4304 (BEEZERATYLAR KR OHE) | JIS G 4305 CARIEZERTY LA

RUSHE) | JIS G 4308 (AT YL ASHGEM)

OT-YHEEDH KR, PCRELVEE -EERBESRL LA,
OLLEIIOVWTR, BEE - EERECRESNEZHERILILHELIRHONEE A,
(BH5URL : https://ecoleaf-label jp/regulation/)
E#&ES © JR-BO-24004E



	ｴｺﾘｰﾌ①
	ｴｺﾘｰﾌ②

